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O0000000000D000D (Colaprete etal.,,2003)] 1.20 0000000

Altitude above 6 mbar reference, kin

1 b I . v
2%, L - .
NG S VU —_ - —

L L i |
50 100 150 200 %0
Distance along track, km

O 1.1 MOLAOUOOOODOOODOOODOOoOobOOoobooO. booooboooboooo
O0000000000000000000d. Pettengill and Ford (200Q) O O O
ao.
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North
T

Pressure (mbar)

L L Sy
130 135 140 145 150
Temperature (K)

012 000000000000000000000000000.00000

000 (@OO0[K), 0000000000000 (000 [mbar)000000

00,00000000000000,000 CO,00000000. Colaprete et
al.(2003) 000000

000000000.0000000000000000000,000 Co,00
000000000.0000000000000000000,0000000
000000000000.000000000000000000000000
00000000000000.000000H,00000000000000
000,co,0000000000000000000 1.35000000000
00000000000000000000 (Glandorfetal., 2002000000
0,00000000000001.01-1.00000000 (000 Gerber(1991)),
Glandorfetal.(2002) 00 0000000000000 O0O0000O0000O. O
000000000000000000000000000 100000000
oooooo.

gofjdooooobobobo,0jdddoooooobbbobbobooon
00000 Colaprete et al.(2003)) O (2006)0 0O O O O O . Colaprete et al.(2003)
ooo0o,000o0oooooooooobob 1000000 ooooo
O00000,0000000000000000D0O0000O. OO0 Colaprete et
al.lol)i 000000 100000000 0,0020000 3000000
0000000000000 00000O000. 00 Colaprete etal.(2003) O O
godoobbobooogoobooboo, bbb bobuouoo,ogo
0000000000000 00000O000.000d Colaprete et al.(2003) O
goobo,0jdbbodoobbooobbobodoobbuooobobbooonn.
00,00 ooe)DO00DoO0poDOoooooooDoooooooooooa,
O00o000oooooooooooooooooooo.oo (ooe)ooon
0oooooooodoooooooooooooon,bgdoooooooon
goodoooooboobb, bbb oooboobbbbbo.
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OO000O0DO0ooboO @ooe)poooooobooooooobooooboo,oo
gbooggbogobuogobuogbbuogbboobboob.bboobbod
gbboogobboooobboogbbbuooobobbuooooboaod,
gobboobbbuogoooobobobbbodooooobobooboooooad
go.

OOooobOoboboooooooboobobob 200000,

O1000000000000000b0b00b0b00ob.boboobboboon
gob,dgggoboobbboboboobbbbbbobodgoooooooooad.
oboobooboboooboobooboboooboobboobooboboon
gbobobobooooobbobboooobb.oobbobooooob,oood
Oobooboobob HO0b00bO0b0Oobooboobboobooobooboon
gboboboboogo.bogooobbbuooog,bbouooobbobooood
OO0O0000booob.00b00oob HO,NH;, NH,SHO 3000040 ooono
ooooboooooo,0coooboobobooboboboobooo cooouoono
goobh.gobbbooooobobboooobo,boooobbobboooog
gboooboooogooo.

O0200000000000000 10000000D000DOO0DO0ODOODOO0
000000000000 oboo0oooD.bo380000o0oooooog HO
doooooooooooooooooooobooooooooooo.ooa
O0000D0000 75% 00000000 (Gough, 198100000, 000
O0000000000000 75K|OCO000D00000O0O0oDoOooOoonoon
0000000000000 00 (00, 2007). Kasting(1991y 00,00 CO, O
OO00000000 (Pollacketal., 19871 00000000000 O0OOOOO
O0000o0,0000000000000DO0DO00 CGUuooooooooon
0000000 (Forget and Pierrehumbert, 1997).0 000000000000
gooooooooonoooobgoooonooooboooono,bgod
0000000000000 00O00000D00O0o0gon (Pierrehumbert and Erlick,
1998).0 0 (2007)0 Co, 000D ODODOO0OODOODOODOO 1000000
O000oOOoooooo,000obobDodboo couounooonoooooon
OO0000000O000D00D0O00o00bO0bOooOooooo.ooooaa (2007)
dooodoooooooooooo,ogoooooooooooooooodd
000000ooboooooo.0booooboooobooooboooooD 1l
oo, 00000 oooooooooooooo.d
goooooonodooonoooouo,ooondooogooooooon
dooooooooo, oo ogoonooooooooooooood
gooooooooouoooooooonoooobooooooooon.
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gobooooooooobooob.0oz200bb00bb00obboobooDboUoDO
goboooboooooobooob.o300booboobbooboobDoboUoDo
ooo.040000000000D0OOOOODOODODODODO,00O
goo.osboobooobooobuooboobooo.
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020 00000

02000000000 deepconv/arared D000 DOOOO0ODODOOOODODOO
goo.

21 DO000O0DOO0O0OO0ODO0O 20000000000

O000000000o00o0o0oooooodo (Klemp and Wilhelmson, 1978)
OO0000000000000000 (Odakaetal.,2005) 000.000000
O00000000000,00000000000000O0D000DOO0.0O0O0
dooooooooonodoooonogoooo.onobgooooooood
O00000000,00000000000O000DOO00DODOO00DO.000O0
O00000000000000000 (Klemp and Wilhelmson, 1978y 0 0 0 O
0000,0000000000000000Y.00,000000000000
dooodooooooooonooog,gooodoooooooooogod
0000000000 000000D00000O (MacDonald etal., 2000)] 00 O
0ooooooooooooooooooooooooon.

oooobooboOdob 100,00 1000 200000Db00bOO00OOO0DO.O
gbbogdgboboogbboobboobboobboobbuoobbuoonob,d
0030000000000 0Db0b00Ob0 20000bD0bOOOoOODO.

gb,buogdgobbbbodoooobbboooobobobo.bbboboooad
g0, oddddgoooogogoad
ooobooboOo,00b0obobooboooboobobo 20b000bO0obOooDO.
oobooobooboobooboooboooboo,0obbooboo 20000O
gbooggb.bbodobbobuobbuoobboobboobboobobod
00000000000000000000002. 0000000000000
v, 000w, 00 6, 0000000 1LO0O0O p,0000,00 p,00 p, 00

oooooDoO000O000O00000O0 300000.
2)0000000000000000000D0000000000D000D000000000
ooooooooo ADOOgooDon.
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rogoogbooboobooboobooboobooboo.oo,oonoon
gobbbooooobobooodan.

R

0 = T(%)CP, (2.1)
M = (;%)cp:%' (2.2)

000 p, R ¢, 000000000,000000000000,0000000,
R~1889[JK'kg™], ¢, ~7341[JK'kg!]00D0. 00000000000
00000000000, py="700[Pa]l0O0.

gooboooooooooooooooooooooooooooo.ognD o0
000000 ¢,00000 ¢ 000000000,0000000000000
goo.

u(z,z,t) = u(x,2,1), (2.3)
w(x,z,t) = w'(x,zt), (2.4)
O(z,z,t) = 0(zx,2,t)+0(2), (2.5)
H(x,2,t) = Il'(z,2t)+1(2), (2.6)
ps(x,2,t) = pi(x,2,t). (2.7)

gbbodgbbogbboobobogoboo,buoobbuoobboobbod
ooooooooooooooo +'"0goobo.ocogoooooooogo,
goboooog

op

9P _ _5 2.8

o pg (2.8)
00000.00¢g000000000.(280I,/000000

o1l g

o __ 9 2.9

ER o7 (2.9)

goo.

oobooooo couoooboooob,obooooboooboooboo.oo
gbbooggbogobuoo.ggbooobuoobboobbuoobbooboo
gobobogad.

ou ou ou _oIr

A A Kl ) 2.1
ot Uor " Ve 9l T Dw (2.10)
ow ow ow _oIl o’

06 06 06 ]

o T TUgp Wy, T Wa + ?(Qcond + Qrad + Quis) + Do, (2.12)
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I 2 [0y | @) | E 4 @
0 _ C_2 d(phu) N J(phw) N 0_2_ B C_QMconda (2.13)
ot c,p0 Ox 0z c,0 dt ¢, 0
Ips d(psu)  O(psw)
= — — M M D,. 2.14
8t 83:' 82 + cond + fall + Ps ( )
D00 cOO0O0OO0OO0O0OO0O0OO0OO,0000000O00O0000A0.
@ = PRT = Ry (2.15)
Cy Cy

00 ¢, 00000000,¢ ~5452[0K kg™ ]000. Dy, Dy, Dy, D,, 000
000000,0000,00,000000000000000. Quonds Qrads Qais
0000000000000000,00000,00000000.00 My,
M 00000000000000000000,0000000000000
00000000.D,, Dy Dy, D, 0000000000002200000.0
0 Meppay Mjqu 000000000000 2300000

00000 (212) 000000000 Qeond, @reay Quis 00O DODOO0O.0000

00oooo
Qg = L eond (2.16)

Cpp
000.000 LOODOOO0O000 Co,000000,0000000000
000 L~58x10°[Jkg]000. Qu 000000000000 22000
00.0,,0000000000000000,000000000000000

gbbobuoogobbbdagad.

OO0O000 (3000000000000 000O0000.2200000000
OO00D00o0o0oooooooooooo,0o0oo0n0 3)oooo20o000 3
OO0O0000.(R3)D00020000000000000000000O0.00
godooodoooooouoon
Z a0 @0
__2d_ = __QZQcond (217)
e, A 0T
OO0000.R3)o000 3000000000000 onoooooooon
OO0000o00.0o0000oo, 0000 HO00000DOO0DOOoDOOon, (2.13)
O000 20000 30000000000 DOO0OO0OoOO. (217ooood,
3)0o00ooooooooooad.
o1 & [o(po 0(p0 e L
. c (p U)+ (p w)}Jr ¢ ( T_1> Mo, (2.18)
Cp

ot cpﬁ§2 oz 0z cppl
0000000 OT) ~150[K] 00000, ¢, ~ 7341 [IK " kg], L ~ 5.86x 107
Wkg']DO L/(c,T)>100000.0000000 CO,000000000,
guoodooooooon.
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gb,gbbodgbooobbdo.oobbodboobbooboooba,boo
gooobooobooooooboobo.obbooboobuoobo Loooba,
O000obOd o000D0OO0ODLOOOOOOODODODbDOOD

d(x,z,t) = ¢z + L, 2,t) (2.19)

goobgoo.boobbooobboobbd D,wOoobboobbh 000
g, 0o0ggoobogo

w = 0, (z=0,D) (2.20)
oy B
5. = 0 (2=0,D) (2.21)

gooog.

22 0000000 0OOO0OOO

goooooooooOooodo,0o00obo(@UuobooOg)oooooooogo.
gbbodbbuoobbuoobboobbooboboooboa,buoobboo
oooooooo@oooooo0ogo)ogoobooo0ogooooo.goo
gogbobbbbuoooooobobbbbbbooooooobbbobbooooo
O00oOOoO0@Euoooooooooog).

221 O00O0OO

000000 Klemp and Wilhelmson(1978)) OO O O (2001) 0 00000000,
I ' A A I
ooooodooooooooo D, Dy, Dy, D,, O0000000000O0O.

D, = —% :—gKm% + gE} - (% {—Km (% + g—f)] . (2.22)
D, = —% :—Km <g—;" + %)} - 80_2 [—%sz—;‘) + %E] . (2.23)
b= 2 [02] -2 k200 22
D, = —% :Kh%ﬂ - % [Kh%p;] (2.25)

ol K, K,00o0obooobo,ggbooboooboobag,rp00obon
goobooooobooobobooob.obbbooob, PO K, OOOO
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HEN

K, \>
E— (C_ml> (2.26)

O00.000!00000000,000000000 AzO000D0DQODOCOO

00 A:0000 1= (AzA2)Y?200000.00 ¢,000000000. K,0
0 000d Deardorff(1972)1 00 O

K = 3K, (2.27)

oood.1s0b0bogobooboboooboooDb K, 0oboooobg,oon
oboobooobo.

0Ky [ 0Kw  OKnY _ 39Cn°1° 99’
o oz 0z 20 0z
ou\’ dw\?|  CR22 (Ou  Ow\’
272 | [ dU ow m ou  ow
Ol [(c?x) +(8z> 2 <8z+8x)

_ﬁ @ + a_w + 1 62Km2 + 82Km2
3 \Ox Oz 2 02 022
0K, \> [(0K,\> C. _ ,
+< Ox ) * ( 0z ) a QC’mlsz ' (2.28)

000 c.0O000ooo0o0.opbooouoboooggn Deardorff(197501 0O
0cC,=C.=02000.

00000 Qus 00000
K 3
0 G- s (£2) e
cpl Cp

gooo.

222 0J0O0OO0O0OOO

000000000000 FRO00000000000000 (00,1994)00
OO
Fh:CD‘/lowest(Tgnd_ﬂawest)/AZ (230)

00000.000 ¢p, Viewests Tynas Towes 100 0000000,000000
000,00000,00000000000.000000000000, ¢p =
1510 000.0000000000

‘/sfc = \/ u?owest + u(2) (231)
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0000.000 wewey 00000000000000000000,4 0000
00.u 0 ey 00000000000000000000000000O00
0D0000000000000000000,u=30[m/s]000. T,,,0000
000,000000000000000.

2.3 OO00O0oooooooon

23000000000000000000 M,,,,O0O0OOOOOOO0OO0O000O
000000 My OOOOOO000000

godoooooooodo, oo oooooooooobooonb,on
00000000000 00000D0DO (OO0 Soong and Ogura(1973)N 00O
0100000000000 0O000, 0000000000000 ooooan.
goooonoooouooodooonooonooooooooon.

ooboooboooooboooo,cobgbooobooboooooboobooDo
oob0.0b000b0obobobobobooogb cbogo e ouooon
gboo.oboobooo,0ooboobooboboobbobbobbobbon
ooboooboooooobooo,obooboobooboooboo 2000000
O00000O0o00oOooD@oDooOoO (2000).000000DOO0O0O0DOOOOO
Oooooooooobogooobooboob.00b0ob0ob00ob0obgn HOO
gboboboboboboobobobo,0oboboboobobobon
(Gooding,1986) 0 000 00O0O0DOOOCOOOOOOOODOODOOOO.

000000000000000000 200000000.00000000
000000000000 000000000000000000000000
00000.00000000000000,0000000000000000
000000, Tobieetal. (20030 0 00,0 000000000000000 05
[pm] OO0 (Ockert-Belletal., 1997 0 0000000000000 00000
0010000000000,0050pm00000000000000O00O0
000000000000 000000000000000. 00 (2006000
0000000000 0000000000000000000,0000000
00000 1-20[s]0000000,000005-25pm 000000000
0.000000000000000000000000000000,0000
00000000000000000000.0000000000000000
00000000000000,0000000000.

gbo,000b0b0obo0boob Mep,yDOooboobooobo.ooboo
gogobbobobbouooooobobobboodoooobbobbooogg

2009/02/020 0 O O)



gobboooogn goboo 25

gbob.gbbobuooogbbbuoooobbobbuoooobbbboooob.od
gbobobobuogoobbobboooob,boooobobooooobob.od

0 A

gplﬂ-(rg_rgero>N:ps (232)
O0000000000.000 pr0CoeU00d,r, 00000, re.dnndn
000,NOOOOOOOOOO00OO000o00000.000000 py = 1.565x103
ko/m* 1000, 7., NOOOOOOOOOO.021000000000000
gododooooooooo.oooouoooouooooouooooooa

000000000000 Me,,,0OOOOoODoDoooa?®),

4rrgN
Mepng = ——(5 — 1). 2.33
1= (5 ) 239
oodd R, R, SO000O0OOOOOOOOOO,000000O0000,000

goo

L2 12
— — 2.34
B ERT?  kROII2’ (2.34)
RT  RAII
= — , 2.35
i Dp.  Dp. (2.35)
F11
§ = P2 _ P~ (2.36)
D« D

Ooooo0.0oO0 k Dyp,0bO0Db0OO0OCOOO,0D00OD00ODO0,COOODO0OO
O0D00.000000 Tobieetal. (20030 0000000000 R, > R, 0O
00

Mogna = (S - 1). (2.37)
Ry
000.co0000ooooonooobbnbnonnO Antoined O
B
np, = A— —2 2.38
np T—C (2.38)

0000000 (Antoine, 1888).0 00 A, B,CO0U000oOoOoOooooooQ,
Co, 000 A=274,B=3103,C=-0.16000(00000O,1999).0000
O00000000000000 O(T)~150K]ODODODOO,T>CO00000

B
Inp, = A— — 2.39
np T (2.39)

goo.

3)2.33)0000000000 (2000000 ADO000O000.
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00,000000000000000 My 000000000000, Mg O
Kessler(19690 00O, 0000000 V., 00000000000.00

0
Mfall == E (ps‘/;‘/erm) (240)

O000.0000 Vi, 00D0D0O0DODOOOOOO StokesdOOOOO

2 2
V;erm = C1sc TadP1 (241)
I

O00. 000 C,., 0000000000 StokesD DOODDODODOOOOOODO
(Cunninghan 0O O)0O OO,

Chom 14 1.2552 (2.42)
Td

00000 (Cunningham, 19100 0 CO, 0000000000,
 kgT
V2ro2p

O0000.kz0O BolzmannD O,c 0 CO, 00000000,k =1.38x10"2
[m?kgs2K™!],oc=33x10"19[m] 00O (Golden and Sircar, 19940 0 0 0O
00004, Sutherlandd O O

Tyer + Coo, T \*?
— D 2.44
g " ! ( T + CCOQ Tref ( )

A (2.43)

00000 (Sutherland, 1893),.f, Tref, Coo, 00 00000000000,000
000,CO,0000 Sutherlandl D00 O, ,ep = 1.47 x 1075 [Pa- 8], Ty = 293
K], Cco, =240[K] 0000 (00O O,2004)4. 0 2200000000000
00000000000000 (T =150K], p=400Pa) 0000000000
oQ.

4)Sutherland] 000000000000 0000,000000000000OO0O. Sutherland
obooooobooooboboosBOOODOOO.
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(x107 m) Radius of cloud particle
S T T T T T T T

N [ ~
T T

radius of particle

ol

0 4 8 12 16 20 24 28
(x1075 kg/m™3)
density of cloud

o

021:0000000000000000000000.0000000000
00000000000000 (T =150K], p=400[Pa])0000,000000
000 5.0x 108kg~]0O0O.

(m/s) Terminal velocity
1.0 \
08
n
3
206
>
©
S o4t
€
£
©
L
021
0.0 Il Il Il Il
0 1 2 3 4 5
(x1075 m)

radius of particle

022:000000000000000000000000 (T = 150K], p =
400[Pa)000O0O0O0DOODO.
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030 OO0

O3000000b0obooooboo 2000booooooboooooooboo.

3.1 JOoooog

0310000000000 boooboo,0oboobooboobooDbon
uo.

O000000DDoDo0ooooDooooooO, 000000 Arakawa CO OO0
(Arakawa and Lamb, 1977)] 0 0 0 0 O LorenzO 0O OO (Lorenz, 1960)1 0 O O
0.000000000 200000 4000000000000000,000
goooooooodoooooooooodn. oogoo,o0oood,don
000,000000000000000000000000DODODO ArOD0OO
0o,00000o00dooooooooooooodoooonoooon
AtO0000000.00000000000000 HE-VIODDOO,000000
O00000dooo,0dooooboobooooodooooooo (oo
O00oooOoo)oboooo.

3.2 JOoOoog

0000000000, 00000000000000DO Arakawa CO OO0,
LorenzOOOOOOOOOOOOOOO. Arakawa COODOOOOOOQOOgd
ooooooooooooooooboooooooooooooooooon.
Arakawa CO 0000000 ODOOOO0OOOOOODOODOOODOO (Arakawa and
Lamb, 1977). Lorenzl OO0 000000000 DOODODOOOOODOODOOOO
0000000000000 0000000.0000000000 (4,k),000
O00000000000000 (i(u),k),0000000000000O0O00C0OO
O (i, k(w)), 00000000000 (i(u),k(w) 000000000000,00
Oo0o0o0o00 3.100000o0o0o.
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[ ] @i-1.k+1 @i-l(u)pk+l@ik+] Qiupk+] @i+lk+l @
‘i—l,kt_w1 _i,k(_w) ‘i+l,k[w)

® ei-l1.k ei-l(upk eik ®i(u)k e®i+l.k [ ]
Li-Lk-1(w) v Lk-1(w) _itLk-1(w)

[ ] @i-1.k-1  @i-l(upnk-1 @ik-1 Qi(upk-1 ei+lk-1 ¢

031000000.000@o06)DO00OOOO.
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ggno

3.3 UU0ooooon

03300000obobobooboooooboboooobooobobnoonoon
go,0ggggbbobooggbbobuoggoboobod.

331 0000

0 3200000000000 0000b00bOobDOoOOobObOUObOoDOoDOon
gboboodgboo.gobbooboobobuoobboobboobbooboo
goo,0bogboogbobodbooobuogbbooboobbo.ugn, g

gobbboooobbboooobbbooooboboobooooboog.

OO0, 00000bo0obo0obbo0.otd o, H,VOoobooboooo,0obO
gbgobg,booboobooboob.boboboobbobbobbob

Gik + Gitrk T Gikr1 + Qig1 kst

Y

Hiwy k1 + Hicw) k1 T Hiuyk + Uic1(u) k

Y

4

Vit1kw) + Vikw) T Vit 1r—1(w) Vik—1(w)

Oogdg.
Qi1 Tt Gik
ity ke = 5
 Gigr1t Qi
Dik(w) = 5
Gitu) k(w) = 1
Hiu +Hzf u
oy = ik : 10
Hipwy =
Hiw) k1 + Hiu) k
Hiw) k(w) = 5
‘/i,kw +‘/'i,k7 w
Vip = Virw . 1)
Vi e =
Vit kw) + Vik(w)
Vitw) k(w) = .

332 J00OOOOoonOo

2

4

Y

)

(3.1)
(3.2)
(3.3)
(3.4)
(3.5)
(3.6)
(3.7)
(3.8)

(3.9)

gooboboooooboobobo.obobobooobooboboooboboobD 20
oobooboooo,cobbooboobooboob 400b000b0b0ODLO

go.
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OO0 20000000000000000000.00y0O0D00OD0ODODO
gboboboogobobooboood.

¢ itk — Pik
= Itk ThE 3.10
(ax ) i(u),k Az , ( )
ol Gikr1 — Pik
—_ — Rt A M it ek 3.11
(82’) k(w) Az ’ (3.11)
0H Hiwy e — Hi—1(u).k
= : : 3.12
(5., e (312)
H Hiwy kv1 — Hiqu) k
— = : ’ 3.13
( 0z ) Az ’ (3.13)
ov Vit1kw) = Vik(w)
i — : i 3.14
(% ) )~ Visto) (3.14)
V Vikw) = Vik—1(w)
=) == ’ 3.15
(% ) i, (3.15)
Vi) ke(w) — Vie1(u) k(w)
- = : . 3.16
(6:17 )Z Az ’ (3.16)
Vitu) k(w) — Vi(u)k—1(w)
= . : . 3.17
(82 )z (u),k Az ( )
00,40 00000000000000000A0.
ol 9biv1h — ik 1 Giyar — Qi1
— B e e et S St My 3.18
(81‘)1 () k 8 Ax 24 Az ’ (3.18)
¢ 9Giks1 — Qi 1 Pigr2 — Qi1
bkl S A S s o e S 3.19
(82) k(w) 8 Ax 24 Az ’ (3.19)
8_H _ gHz(u),k - Hi—l(u),k _ iHi-i-l(u),k — Hi—2(u),k (3 20)
o ), 8 Ax 24 Az ’ '
8_H _ gHi(U)7k+1 — Hiw)k _ iHi(u),kJrQ — Hiw) k-1 (3.21)
92 /) ituy k() 8 Az 24 Az ’ '
ov _ Vikw) = Vikw) 1 Visarw) = Vicrkw) (3.22)
Ox i) h(w) 8 Az 24 Az ’ '
4 Vi) = Vikm1w) 1 Viksiw) = Vie—2(w) (3.23)
0z ) ix 8 Ax 24 Az ' '
a_qvb _ 9 ¢z (u),k(w) — wz (u),k(w) l¢i+1(u),k(w) - 77ZJ'L'72(u),k(w)
ox i k(w) 8 Ax 24 Az ’
(3.24)
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0z 24

o _ 9 Vi) k(w) = Viwh—1(w) 1 Vit hr1(w) = Yigw) k—2(w)
)k 8 Ax 24 Az ’

(3.25)

333 U0bOoooooooooooon

0 310,0 32000000000000DOD0O0OO0DbDOO0ODODDbOODDbDO0,O
gobobooood.

ot - E\ O i(u)k RRANE i(u)k
— oIl
el (a?)xu),k + Pl (3.26)
OW; p(w) ow ou
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POTENTIAL TEMPARETURE TENDENCY
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POTENTIAL TEMPARETURE TENDENCY
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POTENTIAL TEMPARETURE TENDENCY
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disturbunce of Exner
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POTENTIAL TEMPARETURE TENDENCY
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vertical velocity
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vertical velocity

o
PE= ©
P @ + B 12 16 20 24 28 32 36 40 44 48 £ 800
N (x1000 m) °
. 5
X—coordinate g #000
. i
zonal velocity N i 4 B 12 16 20 24 28 32 36 40 44 48
(x1000 m)
X—coordinate
P @y + B 12 16 20 24 28 32 36 40 44 48 vertical velocity
m (x1000 m) o
X—coordinate T go00
<
- °
B zonal velocity 5 4000
2 S
s v
5
g Ny 4 B 12 16 20 24 28 32 36 40 44 48
3 m (x1000 m)
T my 4 8 12 24 28 32 36 40 44 48 X—coordinate
~ (x1000 m)
X—coordinate vertical velocity
° zonal velocity o
2 2 8000
T H
4 = S
bl o T 84000
T oy + B 12 16 20 24 28 32 36 40 44 48 i
N ) (x1000 m) N i 4 B 12 16 20 24 28 32 36 40 44 48
X—coordinate ™ (x1000 m)
X—coordinate
CONTOUR INTERVAL = 4.000E+00
vertical velocity
2
2 8000
2
]
g 4000
S
i
~

4 B 12 16 20 24 28 32 36 40 44 48
(x1000 m)

X—coordinate

CONTOUR INTERVAL = 4.000E+00

32 -16 0 16 32

0 4.45: S1I00F@ 00 ¢ = 217800 —222600 [s] 0000 «(00), w(O0) 00O
000 600[s]00000000.000000000000000000000.
w0O0O0O0O0000-5[kml,w00000000-10km0000000000.
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zonal velocity
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]

8

I ) 4 8 12 16 20 24 28 32 36 40 44 48

N (x1000 m)
X—coordinate

° zonal velocity

]

£

z Ww -

6

g

T (m 4 8 12 16 20 24 28 32 36 40 44 48

N (x1000 m)

X—coordinate

zonal velocity

2

]

£

B

5

o 2 -

(‘J (m 4 8 12 16 20 24 28 32 36 40 44 48

~ (x1000 m)
X—coordinate

® zonal velocity

]

c

'E 4000 ¢ -

: s

(\) (m) 28 32 36 40 44 48

N (x1000 m)
X—coordinate

° zonal velocity

©

£

b 4000

5

4 o i

(‘) (m) 4 &8 12 16 20 24 28 32 36 40 44 48

N (x1000 m)
X—coordinate

® zonal velocity

]

£

°

5

S U

I () 4 8 12 16 20 24 28 32 36 40 44 48

N (x1000 m)

X—coordinate

zonal velocity

2
5
.IE, ="
5 s
S e 1) ~
g 7N < ZAPNSN\
T (m 4 8 12 16 20 24 28 32 36 40 44 48
~ m (%1000 m)
X—coordinate
° zonal velocity
5
£
2
2
= e N
(‘) (m 4 8 12 16 20 24 28 32 36 40 44 48
~

Z—coordinate

(x1000 m)
X—coordinate

zonal velocity

(o - <
4 8 12 16 20 24 28 32 36 40 44 48
(x1000 m)

X—coordinate

CONTOUR INTERVAL = 4.000E+00
T T T T 7 1T T

-2 -6 0 16 32

Z—coordinate Z—coordinate Z—coordinate Z—coordinate Z—coordinate Z—coordinate Z—coordinate Z—coordinate

Z—coordinate

vertical velocity

4 8 12 16 20 24 28 32 36 40 44 48
(x1000 m)
X—coordinate

vertical velocity

4 8 12 16 20 24 28 32 36 40 44 48
(x1000 m)

X—coordinate

vertical velocity

=
4 8 12 16 20 24 28 32 36 40 44 48
(x1000 m)

X—coordinate

vertical velocity

4 8 12 16 20 24 28 32 36 40 44 48
(x1000 m)
X—coordinate

vertical velocity

) H\@v /A

4 8 12 16 20 24 28 32 36 40 44 48
(<1000 m)

X—coordinate

vertical velocity

8000

4000

(x1000 m)
X—coordinate

vertical velocity

44 48
(x1000 m)
X—coordinate

vertical velocity

44 48
(x1000 m)
X—coordinate

vertical velocity

1216 20 24 28 32 36 40 44 48
(x1000 m)
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CONTOUR INTERVAL = 4.000E+00

32

0 4.46: S100F@ O 0 ¢ = 223200 —228000 [s] 0000 «(00), w(OO) OO0
000 600[s]00000000.000000000000000000000.
wO0D0000000-5[kml,w00000000-10kml0000000000.
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Deviation of PotTempDist

(x1000 5)

0 4.47: S100FQ O O ¢ =217800—-228000[s] 0O 00 z=300mOO0O0O00O0O
gbooooooon.

zonal velocity

40

—40
(x1000 s)

X—coordinate

CONTOUR INTERVAL = 4.000E+00

0 4.48: S100F@ 0 O ¢ = 217800-228000[s] 0000 z=300[m 0000 0O0O.

vertical velocity

40

@ —40
(x1000 s)

X—coordinate

CONTOUR INTERVAL = 4.000E+00

0 4.49: S100FQ1 OO ¢ = 217800 —228000[s] D OO0 0 2 =4900[m] OO OO
guo.
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432 UJ0O0OOOO 13000

432000000000 1300000000000 bO0DbObOobOoDbOn
O@O,S13F00000)0000oo0oboo0oooooon. S135F00 O
Oooobobo48000.

00000000000000000000.045000000000000
O00000.00¢=10000s]0000000000. 00000 ¢= 10000 —
180000[s] 00000000 ODO0OO,t=180000-500000[s] 000000000
000,+=2500000[s] 0000000 1[kmO00C0O00000. 000000
00000000,0000 ¢=90000[s]000000000. 04510000
O00000000.0000000000000000,0000000000
2.7x10°[kg] 00 O0D0OO,S100F00 0000000000000 470000
04520 0000000000000000.000000000 ¢ = 240000(s]
000000, ¢t = 240000 —500000[s] D000 OO0, ¢ = 500000[s] 00000
000000000.00 ¢=180000-220000[s] 00 000000000000
00000.0000000000000000000000000000000
000000000000 00. O 4530 ¢ =0, 150000, 300000, 450000, 600000
[[]00000000000000000.¢=0[s]00 ¢=150000[s]0 0000
0000000000,0000000000000.¢=150000[s]000000
00000000,0000000000000.0 4.310 2z =1000, 5000, 10000,
15000 M0 000000000000000000.2=1000[m] 000000
000 ¢=0-190000[s] 00O, t= 190000 —500000 [s] O O O, ¢ = 500000 [s] C
O00000000000.2=5000m 000000000 ¢=0-60000[s] 00
0, t = 60000 —190000 [s] 0 OO, ¢ = 190000 — 240000 [s] O O O, ¢ = 240000 [s] C
000000000, 2=10000,15000[m] 000000000 ¢=0-190000 [s]
000,t=190000[s] 00000000.¢=190000[s] 00000000000
000000000000 000,000000000000000000000
00000000.0000000000000000000000000000
00000000000 00000000O0.
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2000 0000000000

gooo
gobooo
gooo
gbooooao
gooogg
gooo

gobooo
gbooooodgn
gboodao
gobooo
gobooo
goboboooooboo
gobbobooodgoboo
goboboooooboo
gooo
gbooooog

00 50 [km],0 0 20 [km]
Az = 200 [m], Az = 200 [m]
864000 [s] (10 [day])

At = 2.0[s], AT = 0.25[s]
04200
00000000 1-15[km]0 5[K/day]0 0O,
00 0-1[km]O 37.3[K]0OO.
godoooooooooooooooon.
(4.1), (4.2), (4.30 0.

1.35
0o
5.0 x 108 [kg~]

1.0 x 107 [m]

48 x 1073 WK1 m]

0o
0o
0o
OO000D00oo0o01K|Ooooooooo
5.0 x 107° [kg/m?]

0 4.8:S135F@ 000000,
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density of cloud

0 450: S135F 0 000000000 O0OOOong.

Total cloud mass

0451 S135F 000000 0O0oonog.

Total kinetic energy

N
o

2
T
I

Total kinetic energy
w 5
T
L L

0 452:S135F0 0 0000000000 0ODOODOO.
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potential temperature

Lt L L L L L L L L L L L
150 160 170 18O 190 200 210 220 230 240 250 260 270 280
(K)

potential temperature

0 453: S13sFM 000000000 D0ODOOOOODbDODOobOO.oOoD t=

0[s], 00O ¢ = 150000[s], D OO ¢ = 300000[s], 0 OO ¢t = 450000[s], 0 O O
+=1600000[s] 000000000 OOOO.

THETA DISTURBANCE PROFILE
®)
20

(mean) x:100..4990C
2=900 m

pottemp disturb:
|
° @
T T
T B
| | |

0454 S135F@ 0000000 DO0O00oOoooooboobobooDOo. oo

2 =1000[m], 000 2 =5000[m], 000 z=10000[m], 0 00 2= 15000[m] O O
0000000000000 O0OoooO.
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gbobobuoooobbobooaobn.

0 4.55,0 4560 + = 3000[s]0 0000000000000, S135F00 00
000000000000000000,0000 1.350000 2 = 20000[m],
2 =4000[m] 0000 2 =49000[m], z =4000[m] D 0000 O00O0. ¢t = 3000
[[]00000000000 S1I00FO00000000000000000 11-12
000,00000000000000000004-5km00000.

04570 t=3000[s]000000O0OOCOO0O0O00O0ODOOOOOOOO0.oOoO
-lkmOO0000CO0O0OOOO0ODOOOOO0ODOOOOODOOOODOO.OO
l1-4kmlOCOCCCCCOCOOOOCOOCOCOOOCOOOOOOOOOOOOOOO
O.004km|000000O0OCOOOOC0O0OO,ODO00000O00O0,0000
oboobog,ogbboobooboobo,bboboboobooboon
O0.004-15km000000O0DOO0O0OODOO,00DOO00O0DOOOO
0.0015-20km00000000O0DOO0OO,0D000000000000
gbooo,gbbobuoogoobbooogoooboadg.

04580 t=3000[s]00 «* 000000 p, 0000000000000, w?
00000000 SI00FO 0000000 0N0D «*0000000000000
gooo.0b0ogobboooobboooobbog,ps bbb ogd
gboboboogoobbooooon.

0 4.59,0 4.600 ¢+ =12000[s] 0 0000000000000, z = 49000 [m]
000000 12km00000000000000000,00000000
50[m/s]0000000000000.¢=3000[s]000000000000O,
z =49000[m], z=4000[m] 00000000 1.3500000000000,00
00000000.00000000000000000000000, 2= 49000
[m], z=4000[m]000000000000000000.00 4-15[km]00
00000000000000000000,2=49000[m], z=4000[m] 000
000000000000000000000000,00000000000
000000 1.00000000000000000000000000000
000,SI00FO0 0000000000000 0000000000.00000
00000000000 000000000000000000000.00,C
0 4km]0 z=49000[m]000000000000000000000000
1[km0000000000000000.¢=12000[s]00000000000C
5-6000,000000,00000000000 6-—8[km],4-6[km]000
oo.

04610 ¢t =12000[s]0O0C0O00CO0O00O0DOOODOOOOOOOODO. O
OO0-1kmOO00O0O0OO0ODOOODOOOOO,ODO00O000DDOODOOO.OO
1-4kmO00000C000O0ODOO,0000D0OO0O0O0OODO.COO
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100 gbobobooggn 2000 0000000000

000 (00 4km)0000000000000000000 5.8 x 1074 [K/s],
—65x1074[K/s]000000.0000000000000000000000
0000000 8.9x 1074[K/s], —4.6 x 1074 [K/s] D0 0000.0000000
000000000000 0000000000,0000000000000C0
O00000000000.008-16km000000000000000,0
oooo0ooooooo.

0 4.620 ¢t =12000[s]00 »w? 000000 p, 0000000000 OOO.O
gogbobbobbboooooobbbobbbuooooooobbobobboouoo
O0.000011-15kkm000C00000DODOODOO,0D000000000
gobboooooobo.

0 4.63,0 4.640 ¢+ =27600[s] 0000000000000, t=12000[s] O
z=49000[m]0000000000000000O00000000O000000
O00000000.00 17km000000000000000000000C
O0000000000000000000000.¢=12000[s]0000000
00000000000000000000000,0000000000000
O0000.S135FO0 00000 S100FO0 0000000000000 000
000000000000000000000000000000000000
0.00 2 = 22000 [m], z = 5000 — 10000 [m] D000 z = 44000 [m], z = 5000
—~7000[m] 0000000000000 0000.00000000000000
O5kmO0000000000000000000O0000000000000
00.000000000000000000000,000000000000
00000000 000O00O0.

04650 +=27600[s] 000 0000000000000 0CO000O000.0O0
0-4[km]00 ¢t=12000[s] 00 000000000000000000.000
000 @OS5Km)0000000000000000000 1.1 x 1073 [K/s],
~1.2x103[K/s]000000.0000000000000000000000
0000000 1.6 x 1073[K/s], —9.8 x 104 [K/s] 00 00O00.0000000
0000000000000000 ¢=12000[s]00000000000000
0.007-14kmO0000000000000000000C0O00,0000
00000000000000000000000.00 17kml0000000
00000000,0000000000000.

0 4.660 t=27600[s]00 vw? 000000 p, 00000000DO0OOOO.O
Oooooooooooboo,bo 15-17kmbbOCO000oDo0oOooDboOO
O0000.00¢t=27600[s]0O0D000D0O0O0ODODODODODOOODOOODOONO,
gbobboooobbbuooobooboobo.

0 4.67,0 4680 t=189000[s] 0 0000000000000.00 8=20[km]
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OO0000OO0O0o00oDoOoOo.0oogd z=24a000mO00onooooooOO
ooooo.0oooobooboooobooo,obbogboobboobooboog 20
[(m/sj0000O0O00.0000000ooooooooobooooooDooog,obo
gbobobbuogoob.ggoobobobuoooooboo,oobbbbooood
O0O000000O0.x=38000mOO00O0C0O0DOOODOOOODOOODOOO
vooooooooobooboobuoobooboobooo.

0 4.690 +=189000[s]0 000000000000 0000000000.00
O00O0(@O08Kkm)IOCOODOOOODONDCOODOOOOOODO 1.0x 1072 [K/s],
—88x 103 [K/s] 000000.000000000000000000000
00000000 93 x 10°%[K/s], —1.1 x 102 [K/s] D0 0O000.00 5[km] O
000000000000000000,000000000000000000
000.00000000000000000000,000000000.009
~20[km00000000,00000,000000000000000000
ooooooooo.

04700 +=189000[s]00 »?* 000000 p, 0000000000 OOO. O
O15kmO00000 w?>~10m*/s]00000000000O00O0O,00000
goboboooobbboood.

0 4.71,0 4.720 t=540000[s] 000000000000 O00.00 1- 20 [km]
000000000,0000 6-13[km]J000000 4.0x 10~ [kg/m*] 000
00000.0000000000000000000000,00000000
00000000000000.0000000000000,0000,0000
00000000000000 10.3[m/s],5.2[mspo0O0000.

0 4.730 ¢t=540000[s]C 000000000 DOOOOOODOOOOODODO.OO
O-1kmlDO0000D00OCOOO0O0O0OODOOOOOOOODDODOODO,OO
O0000000oooo.ooobodg@UulkmpyOooooooooDoOoboOO
gbobbodg,obbbbooogobboda.obbbouooobbboooad
000000000 1.1x1073[K/s], =5.0x 1074 [K/s] OO ODO0OOO0O.00000
000000000000000000000000 6.0x 1074K/s], —=1.2x 1073
Kis]ODODOOODO.004-15km00000000O0ODODOOODOOOOODOO
O0,000000000000000C0.00 15-20kmOC0000O00O0OO0O
gbobobooogbo,ggoobbbouoooobobooad.

04740 t =540000[s]00 v 000000 p, 0000000000000, p,s
00000000 8kmOO00O0OO00OO00ODO. D0 «*00000000 8[km]
obobooboobgoobg.

O0,t=180000—-220000[s]D0O00000DOOOOOOO0OOOODOOOOO
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102 gbobobooggn 2000 0000000000

00O0.S100FO00000,S135F00 00 00000000000000000
0000000000000000000,00000000000000000
0.0 4.75,0 4.760 ¢ = 182400 —189000[s] 0 0 v, w 000 OO0 O. ¢t = 182400
[s] (0 4750000 100)0000 z=36000m 000000000000,
000000000000 00000000000000000000. 0 4.77,
0 4.78,0 47900 z=36000[m] 0000000000000 0C0O0000O0O
000000000000000000000000000000000,000
000000 100000000000000000.000000000000
00000000000000000000 A 000BOOOOOOOO.O0
t=183000[s] (0 4750000 200)0000 z=20000m 00000000
0000,00000000000000000.000000000000000
00000000000000000 C,000DO0O0000O000.t= 184200
[s](0 4750000 400)0000000BOO0O CO = =26000[m] 00
0000,00000000.000BO000O0O0O0OCOO0O0OOOOOO
000,000BOO0O00COOOOO0OOOD.0000000000000O,
000000000000, ¢t=184800([s] (0 4750000 500)000000
OADODOOODO 2z=8000[mO000000,00000000.000AO00
0000000 DOOOO0OOONODOOD,000ADCOOODOOOOOO
000.00000000000000,000000000000.¢= 187200 ]s]
(04760000 300)0000000 COO0O0O0O0DO 2=20000[m]O000
000,0000000.¢=187800([s] (0 4760000 400)0000000
AOOOOBO z=22000m]000000,2000000000000000
0000000.0000000000000000000000 16[m/s]000
00000,400000000000000000000000000 20 [m/s]
000,000000000000000000.0000 S135F0000000
00000000000 000000000000000000000000.

00,0000000000000000000000000000000000
0. S100FO0 00 ¢ = 259200 [s] 0 S135F00 00 ¢ = 189000 [s] D000 0. O
O0000000000000000. SI00FO0 0 (O 4.44), S135F@ O (O 4.70)
000000,0000000000000 S135F000000000 S100F00
0000000000000 00O000.00000000000000000
0000000000000 0000000000000000000. 000
O000000000000000000.04.43,04.60000000,000
00000 S13sF0 0000000000000 000000N00N0Nnoon
025 x 1073 [K/s], 9.3 x 103 [K/s] 000000. 000000 S135F00 000
0000000000000 00000000000000000. OO0 S100F0
0000 S135F00000000000000000000000000000
—8.0x 1073 [K/s], 1.1 x 102 [K/s]000000.000000 S135F00 00 O
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OoooboooobooooobooooooooboooboooboOo.bog s135F0
gboobgdgboogbbodgbbogbba,booobooobboobood
OO00.S13F0 000 s1ooF0 0 oDnoooooooooo,gooooon
OO00OoooboobOobOobob.s1ssFO0boboooooooooooogon
gbogbobuodgbbodbooobuoobbuoobbooboo.gobbod
gobboobbodooooobbbbooooooooboboobooooood
gbobooodgoboo.
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density of cloud

4e—4
o 15[ N
9
o
=
°
5 10F N
o i 2e—4
[6)
‘ ]
~ 4
sk F~Y 4
I I I I I I I I I I I L] 1e—16
4 8 12 16 20 24 28 32 36 40 44 48
(x1000 m) (x1000 m)
X—coordinate
CONTOUR INTERVAL = 1.000E—04
saturation ratio
()
9
2 1.26
£
o
]
[e]
i
N
1.08
4 8 12 16 20 24 28 32 36 40 44 48
(x1000 m) (x1000 m)
X—coordinate
CONTOUR INTERVAL = 1.000E—01
disturbunce of potential temperature
15; o.oov—//i
E [E 4 30
SO
= r
5 |
S 10F o
[e]
i
N 5Z M 0°°x '
(x1000 m) (xWOOO m)

X—coordinate

CONTOUR INTERVAL = 3.000E+00

0 4.55: S135F@W 00 ¢+=3000[s]0 0000 (0),000 (0), 0000 ()00
ooo.
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disturbunce of Exner
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o 15

o
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o

o 0
O

[

N5

-0.03

4 8 12 16 20 24 28 32 36 40 44 48
(x1000 m) (x1000 m)

X—coordinate

CONTOUR INTERVAL = 3.000E-03

zonal velocity

40
o 15
9
o
=
2
5 10
[e] 0
7
N5
4 8 12 16 20 24 28 32 36 40 44 48 0
(x1000 m) (x1000 m)
X—coordinate
CONTOUR INTERVAL = 4.000E+00
vertical velocity
40
[0}
9
O
=
o
o
o
[e] 0
7
N
4 8 12 16 20 24 28 32 36 40 44 48 0
(x1000 m) (x1000 m)

X—coordinate

CONTOUR INTERVAL = 4.000E+00

0 4.56: S1I35F@ OO ¢ =3000[s] 0 00000000 (0), 0000 (0),000
0D@)ooooo.
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POTENTIAL TEMPARETURE TENDENCY

(x1000 m)
t=0s
18 F
16
14+
12
o
o
210
=
o
sl
s
s
o f
=
-0 -8 -6 8 10
(x1E—4 K/s

potential temprerature tendency

0 457: S135F 00 ¢t=3000[s]00D0O0O0O0OOC0O0ODOOOOOOODOOO.
gobbobo,ggobbbododg,bobbboood,bbbuooob,buodgo
go,ggggb,gggobo,goobb,goboo,gbbbuoooobo.

square vertical velocity density of cloud

0 4.58: S135F@I 00 ¢t=3000[s]00 «*000000 p, 00000000,
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density of cloud

4e—4
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=
©
o
]
O 2e—4
O
[
N
BBttt EmEER -
L L L L L L L 1e—16
(<1000 m) 12 16 20 24 28 32 36 40
X—coordinate
CONTOUR INTERVAL = 1.000E-04
saturation ratio
[}
9
2 1.26
=
o
o
[e)
7
N
1.08
L
4 8 12 16 20 24 28 32 36 40 44 48
(x1000 m) (x1000 m)
X—coordinate
CONTOUR INTERVAL = 1.000E-01
disturbunce of potential temperature
15
i) 30
O
=
e
S 10
[e)
7
0
N5
4 8 12 16 20 24 28 32 36 40 44 48
(x1000 m) (x1000 m)

X—coordinate

CONTOUR INTERVAL = 3.000E+00

0 4.59: S135F@ OO0 ¢ =12000[s] 00000 (0), 000 (0),0000 (0)0O
oooo.
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disturbunce of Exner

0.03
i 0
-0.03
4 8 12 16 20 24 28 32 36 40 44 48
40
i 0
-40
)

(x1000 m) (x1000 m)
40

15

10

Z—coordinate

5

X—coordinate

CONTOUR INTERVAL = 3.000E-03

zonal velocity

15

10

Z—coordinate

5

P
4 8 12 16 20 24 28 32 36 40 44 48
(x1000 m) (x1000 m

X—coordinate

CONTOUR INTERVAL = 4.000E+00

vertical velocity

Z—coordinate

-40

4 8 12 16 20 24 28 32 36 40 44 48
(x1000 m) (x1000 m)

X—coordinate

CONTOUR INTERVAL = 4.000E+00

0 4.60: S135F@ 00 ¢ = 12000[s] ] 00000000 (D), 0000 (0),00
0o (@)ooooo.
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POTENTIAL TEMPARETURE TENDENCY

(x1000 m)
t=0
181
16k
14 F
12 b
o
o
210
=
o
sl
s
s
Py
. .
-10 -8 -6 8 10
(x1E-4 K/s)

potential temprerature tendency

0461:S135F@0 00 ¢t=12000[s]0000O0O0OCO0O0O0OOODOODOOOOO.
gboboboda,gbobbbooa,bbbuodoodgo,bbooooobb,uoood
gbo,ggdgoo,ggobobo,gobobo,gbbboo,obbooogooo.

square vertical velocity density of cloud

Z—coardinate
Z—coordinate

30 35 40
(x1E-5 kg/m™3)
density of cloud

0 4.62: S135FI 00 t=12000[s] 00 w* 000000 p, 00000000,
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density of cloud

4e—4
(0]
9
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=
©
o
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O 2e—4
[6)
|
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4 8 12 16 20 24 28 32 36 40 4‘4 4‘8 oo

(x1000 m) (x1000 m)
X—coordinate
CONTOUR INTERVAL = 1.000E—04
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9

2 1.26
£
o
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[e]
7
N

1.08

4 8
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X—coordinate

CONTOUR INTERVAL = 1.000E-01

disturbunce of potential temperature

30

Z—coordinate

4 8 12 16 20 24 28 32 36 40 44 48
(x1000 m) (x1000 m)

X—coordinate

CONTOUR INTERVAL = 3.000E+00

0 4.63: S135F@ OO0 ¢ =27600[s] 00000 (0), 000 (0),0000 (0)0
oooo.
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disturbunce of Exner

0.03
®15
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O
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°
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\
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4 8 12 16 20 24 28 32 36 40 44 48 e
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X—coordinate
CONTOUR INTERVAL = 3.000E-03
zonal velocity
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8
O
£
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T
N
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CONTOUR INTERVAL = 4.000E+00
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POTENTIAL TEMPARETURE TENDENCY
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density of cloud
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disturbunce of Exner
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0 4.68: S135F@ OO ¢ =189000[s] 000000000 (J), 0000 (0),00
0o (@)ooooo.

2009/02/020 0 0 O)



gobboooogn

2000 0000000000

115
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POTENTIAL TEMPARETURE TENDENCY

t=0
I I
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(x1E=4 K/s)

potential temprerature tendency
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density of cloud
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disturbunce of Exner
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POTENTIAL TEMPARETURE TENDENCY
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vertical velocity

Z—coordinate

8§ 12 16 20 24 28 32 36 40 44 48

(x1000 m) (x1000 m)

X—coordinate
vertical velocity

zonal velocity -

2
<3 2
£ 2
T EE £
5 =) 2
g =) S
T (m 4 8 12 16 20 24 28 32 36 40 44 48 g ‘ ‘
g (x1000 m) o I
X-coordinate )
) 44 48
© zonal velocity (<1000 m) (x1000 m)
£ X—coordinate
c
e . .
o y vertical velocity
8 5 7 = Z
(‘) (m 8 12 16 20 24 28 32 36 40 44 48
~ (x1000 m)
X—coordinate Lz
2
® zonal velocity g
] 3
2 S
S !
5 ~
S : - =
(‘) (x1000 m) 36 40 44 48
N (x1000 m) (x1000 m)
X~coordinate X—coordinate
° zonal velocity vertical velocity
5
£
°
2 > 2
o i g
(‘) (m) 4 8 12 16 20 24 28 32 36 40 44 48 %
N (x1000 m) 5 y
X—coordinate 8 } !
X i
® zonal velocity N U
5 44 48
'TE (x1000 m) (%1000 m)
I} X—coordinate
g
4 vertical velocity
X—coordinate
® zonal velocity 2
5 2
£ b
T ]
5 S
S 3
8 i
N ~N
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CONTOUR INTERVAL = 4.000E+00 X—coordinate
=32 -1 0 15 32 vertical velocity

Z—coordinate

4 8 12 16 20 24 28 32 36 40
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vertical velocity

Z—coordinate
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zonal velocity
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El X—coordinate
D 4000 e T S . .
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° zonal velocity N
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) X—coordinate
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S
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Deviation of PotTempDist

0 4.77: S135FQ@ O O ¢ = 182400 —-189000[s] 0 OO0 z=300mOCCC0C0O0O
obooooooboooon.

zonal velocity
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—40
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CONTOUR INTERVAL = 4.000E+00
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CONTOUR INTERVAL = 4.000E+00
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00 50 [km],0 0 20 [km]
Az = 200 [m], Az = 200 [m]
864000 [s] (10 [day])
At = 2.0[s], A = 0.25[s]
04200
00000000 1-15[km]0 5[K/day] 00O,
00 0-1[km]0O 37.3[K]00 0.
00000000000000000000.
(4.1), (4.2), (4.30 0.

1.0

0o

5.0 x 108 [kg~]
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0
RN
0
OO0o00oooool1K|oooooooo
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0 4.9 S100F0oooono.
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density of cloud

Z—coordinate
=) o

o

(x1000 mCS 1 2 3 4 5 6 7

0 4.80: S100F 0 000O0O0oOooOobooooonog.

Total cloud mass

Total cloud mass

0 481L:SiooFJ000oonoooooog.

Total kinetic energy

N
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a
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e

(x1E5 s5)

Total kinetic energy
@ 5
T T

x1E8 J)O

0 482:S100F 0000000 DObOOoOobDOoong.
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potential temperature

t=Ds
(mean) x:

L L L L L L L L L L L
160 170 180 190 200 210 220 230 240 250 260 270 280
(K)

potential temperature

0 4.83: SI00FO0 0000000000000 OOOOODOOOO. 000 ¢=
0[s], DO DO ¢ = 200000[s], 0 00O ¢ = 400000[s], D OO ¢ = 600000[s], O O O
+=2800000[s] 000000000 OOOO.

THETA DISTURBANCE PROFILE

(mean) x:100..4990C
2=900 m

pottemp disturbance

0 4.84: SICOFOODO0OOOO0OOOOOOOOOOOOOOOOOO. OO0
z=1000[m], 000 2 =5000m], 000 z=10000[m], 000 2= 15000[m] O O
00000000000000O0ooo.
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0000000000000000.00000000000000000000
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density of cloud
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(x1000 m) (x1000 m)
X—coordinate
CONTOUR INTERVAL = 1.000E—04
saturation ratio
1.26
1.08
(x1000 m) (x1000 m)

X—coordinate

CONTOUR INTERVAL = 1.000E-01

disturbunce of potential temperature

Z—coordinate

(x1000 m) (x1000 m)
X—coordinate

CONTOUR INTERVAL = 3.000E+00

0 4.85: SI00FD OO ¢ =3000[s]0 0000 (0),000(0),0000(0)00
ooo.
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disturbunce of Exner
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zonal velocity
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0 4.86: SI00FL OO ¢ =3000[s] 000000000 (0), 0000 (0),000
0D@)ooooo.
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CONTOUR INTERVAL = 4.000E+00

vertical velocity
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0 ! U
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(
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POTENTIAL TEMPARETURE TENDENCY
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square vertical velocity density of cloud

Z—coardinate

0 4.88: SI00FL1 00 ¢t=3000[s]00 «*000000 p,0000000OO.
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density of cloud
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CONTOUR INTERVAL = 1.000E-01
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CONTOUR INTERVAL = 3.000E+00
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disturbunce of Exner
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vertical velocity
40
()
i)
O
£
o
o
]
[} 0
i
N
-40

4 8 12 16 20 24 28 32 36 40 44 48
(x1000 m) (x1000 m)

X—coordinate
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POTENTIAL TEMPARETURE TENDENCY
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square vertical velocity density of cloud

Z—coardinate
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density of cloud
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density of cloud

density of cloud
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S S
7 7
~N ~N
P E R S R
8 12 16 20 24 28 32 38 40 44 48 B 12 16 20 24 28 32 36 40 44 48
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X—coordinate X—coordinate
density of cloud density of cloud
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S S
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~N ~N
S U R S S E R
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S S U R R S S ER R
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5 5
£ £
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CONTOUR INTERVAL = 1.000E—04
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CONTOUR INTERVAL = 1.000E-04
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vertical velocity
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density of cloud
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potential temperature
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density of cloud
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disturbunce of Exner
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POTENTIAL TEMPARETURE TENDENCY
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density of cloud
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POTENTIAL TEMPARETURE TENDENCY
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